Discovery 2 Module 9 Exam Picture Descriptions
Refer to the exhibit. What are two possible
Diagram depicts the output of a show interfaces seril0/0 command

Serial 0/0 is up line protocol is down

Hardware is powerquicc serial

Internet address is 192.168.1.1/24

MTU 1500 bytes, BW 1544 kbit, DLY 20000 usec,

Reliability 255/255. Txload 1/255, rxload1/255

Encapsulation is HDLC, loopback not set

Keepalive set (10 sec)

Refer to the exhibit. Which three statements are true about
Diagram depicts the output of a show ip interfaces brief command

Interface

ip-address

ok?
Method
status
protocol
Fastetehrnet0/1
128.107.0.33

yes
manual
up
up

Serial0/0

64.100.17.5

yes
nvram

administratively down
down

Fastethernet 0/1
128.107.0.129

yes
nvram
up
down

Serial0/0

unassigned

manual
down
down

Refer to the exhibit. Which IP address is misconfigured and is causing
Diagram depicts a network consisting of 4 computers, 2 switches and a router. 2 servers are connected to switch 1 that connects to the router. The router connects to switch 2 and switch 2 has 2 hosts. IP addresses are:

Server 1 172.16.14.100/20

Server 2 172.16.16.10/20

R1 to Sw1 fa0/0 172.16.14.1/20

R1 to sw2 fa0/1 172.16.16.255/20

Host A 172.16.30.5/20

Host B 172.16.16.100/20

Refer to the exhibit. Users on the 10.12.10.0/24
Diagram depicts 3 routers connected in a triangle. Each router has an Ethernet network attached.

R1 has LAN 10.10.10.0/24

R1 to R2 address 209.165.201.0/30

R1 to R3 address 209.165.201.4/30

R2 has LAN 10.12.10.0/24

R2 to R3 address 209.165.201.8/30

R3 has LAN 10.11.10.0/24

Output from router RIP configuration commands are:

R1 (config) # router RIP

R1 (config-router)# Version 2

R1 (config-router)#network 10.10.10.0

R1 (config-router)#network 209.165.201.0

R1 (config-router)#network 209.165.201.4

R1 (config-router)#no auto-summary

R2 (config) # router RIP

R2 (config-router)# Version 1

R2 (config-router)#network 209.165.201.8

R2 (config-router)# network 209.165.201.0

R2 (config-router)# no auto-summary

R3 (config) # router RIP

R3 (config-router)# Version 2

R3 (config-router)# network 10.11.10.0

R3 (config-router)# network 209.165.201.8

R3 (config-router)# network 209/165.201.4

R3 (config-router)# no auto-summary

Refer to the exhibit. A network administrator is in the process
Diagram depicts console output as follows.

<output omitted>

interface fastethernet 0/0

ipaddress 64.100.17.97 255.255.255.224

no shutdown

interface serial 0/0

ipaddress 64.100.17.14 255.255.255.252

clock rate 56000

no shutdown

interface fastethernet0/1

ipaddress64.100.17.94 255.255.255.224

no shutdown

interface serial 0/1

ipaddress 64.100.17.113 255.255.255.252

no shutdown

<output omitted>

Refer to the exhibit. Host H1 on the LAN is not able to access the FTP server
Diagram depicts a network of a host, server switch and router. Host 1 (H1) is connected to Switch 1. Switch 1 connects to the router fa0/0, the router connects to the internet and the FTP server is alos connected to the internet cloud. IP addresses are

H1 192.168.1.2/24

R1 fa0/0 192.168.1.0/24 (uses .1 of the network)

R1 s0/0/0 209.165.201.0 (uses .1)

The following text is included:

Int serial0/0/0

Ip address 209.165.201.1 255.255.255.252

Ip nat inside

Int fastethernet0/0

Ip address 192/168.1.1 255.255.255.0

Ipnat outside

Ip route 0.0.0.0 0.0.0.0 209.165.201.2

IP accesslist 1 permit 192.168.1.0 0.0.255.255

Ipnat pool LAN 209.165.201.10 209.165.201.20

Ip nat inside source list 1 pool LAN overload

Refer to the exhibit. The PC is trying to ping router B
Diagram depicts a pc and 2 routers. PC connects to router A on fa0/0 192.168.1.1/24.

Router A s0/0/0 192.168.2.1/24 connects to router B s0/1/0 192.168.2.2/24

Refer to the exhibit. A router initially boots up to ROMMON mode
Digram depicts output from a router consome:

Rommon 1> dir flash

Filesize 
checksum

filename

5571584 (0x550400) 0x0455
c2800nm-ipbase-mz.123-14.t7.bin

Refer to the exhibit. Which statement is true
Diagram depcts a router with 2 ethernet networks attached.

Network A on fa0/1 and network B on fa0/0

